
This may not be acceptable as a Submission, but I want to contribute. 
 
Australia needs to reduce carbon emissions from its industries, transport, power generation. 
We must contribute to the global effort to limit rise of temperatures to something less than 
2 degrees. The costs to Australians of the climate changes and the world will be enormous 
at the two degrees rise. 
 
Any action which increases emissions must by countered by actions to lessen emissions. 
Hence, we need to have a strong Renewable Energy Target and significant reduction of 
emissions. Fifty percent RETarget by 2030 is achievable. As is 50 percent reduction on 1990 
emissions by 2030. These changes will create jobs and improve our lifestyle. 
 
thankyou 
Gillian Pechey 


